BUSR REfb—FAVE

AVSR
_ &0 R—iR—
© 11 2w zk—vees
_ X B BELT—R
@ 22 mw salr2
_ B XKMLT1—XR
® 32 @ vEy
L m @ gm
@ 41 S m st
W E U=y
©® 31 g awmirx
R BEFHAIL
® 42 g 2ulF iz
D 1-2 fg; BIEFHIL
-1 ® T ypy
= ¥
S m ..
1-1 = H =<5
_ ﬁt E AN =
2-2 J\ 7'( SalbT14—X
=R HBOE
B R EE
COZRX
i AL BT
2 F 0Ly
2-2 _ﬁi NOES
1-2 T'f’; WAFIST
-1 P miusT
W@ EE

RB—FAVB

0
2
B
1
I 03
@
@
1
3
ﬁ@ 0

@
0
1
0
4
@
RBEN—FAVE
@
4
1
@
3

2
i R 35
BISRF
@

(B 1=27)

(FHBLTA—2R)

HEREF(AEAELTA—R)

BREF(EE)

ALEF (BT15)
SFEF (VY



